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G2 S

Math 4 Honors
Quiz Review: Lessons 6-3 thru 6-5

NO CALCULATOR!

Refer to the graph of f shown at the right
Estimate to the nearest 10",

a. For what values of x is the derivative of f positive?

(——g’}o') (4.5, 20)

b. For what values of x is the derivative of / negative?
J g 10 x
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¢. For what values of x is the derivative equal to zero? ;
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X=-5,0,495

d. Using a stralghtedgc, draw the line that is tangent to the graph at x = 2. l/
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g. Determine the concavity of /.
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£ W}MBstimale the point(s) of inflection.
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e. Estimate the derivative of the function when x =2

2. Sample A.P. Exam questions:
f(x) has a relative maximum at x =
here is no re]atwe maximum,

a. f0)=x (-2 (x-3).
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On what interval is f(x) incrcasmg‘?

c. Consider the function f(x)=x* £2%%x].
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2. Differentiate the following. Far ¢ & o, write your arswers in radical form.
a. y=5x —4x* +2x-6 e. Fx)y==3x"+8x7 49 -3
f’- I1Sx*-Fx+2, £Uxy2 302 rlen”
k. 5x° 0 q f Flx)=1012¢6
=/ -
. }' at Gx! £ tx>=0
C. y=alx+ g Fixi=10 26x 25
Y =40 + SR (= 10,26
d. y= f )" - —— K" h. f(x)_—f+5x —Ix+13—§x
2 €1 (x) ax" 110K~ —I'}.
4. A particle moves on the x-asms such that its position at time £ 15 given by the function

s = -9t 1%, D=r=6

a. Determine the velocity & acceleration of the particle at time 2 V(¢ A _ —+
b For what walues of ¢ iz the particle at rest? .. €)= St [¥T+ '5
c. For what walues of £1s the particle mowing to the right? At =Gt ~18
d For what values of #is the particle moving to the left? N
e. What i3 the total distance it has traveled after 5 seconds?b. o= ’4 ""é -+ 'S
£ "What 1z the velocity when the acceleration 15 zero? o= t o Gt *s
5 -1 = i 4 (€-5XE-1)
CEIZiT L% e s)z0 tn o1
RN * 5(N=7 £ o f,l--'
Le@e: (145
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3. The graph below s of (%), the first denwvative.
This iz not the graph of Ax), T A-1)=2 and
F (%) is represented by the given graph. ar
Graph »=71x) as best you can. 3t
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Suppoﬁf( 3 =-2. What 1z the equation of the tangent line to the graph of f{x) at the point (-3, -2)7
//’ = 7K +
’ )r b
£ Tys -aT 703
L= -al +b

el b =15
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